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o 182 A x- V3y+3=0
o @ zolrt. olu, s o] A7]E

st

@ 30°

@ 40°

B 45°

@ 50°

® 60°



4. sin90° +cos0°—tan0° = A , sin0° + tan 0° 4+ cos 90° = B =} T o,
AB 9] 3127

@D -2 @2 -1 3 0 @ 1 B 2
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@ sin20° > sin49° @ sin31° > cos31°
@ sin20° =cos30° @ sin45° > cos45°

B sin23° < cos23°
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/C 7} A zFel A Z-ArZ+e ABC oAl AB
(sin B + cos B) (sinA — 1) &] 3127
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o BE o] 8lA a o] ZolE Fotolzt

Ar--

a3 sin x cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1.0000

46° 0.7193 0.6947 1.0355

47° 0.7314 0.6821 1.0724
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Lx+ 1y ©) 271 Fatolat,

2tz

sin

(¢{0)]

tan

14°

0.2419

0.9703

0.2493

15°

0.2588

0.9659

0.2679

16°

0.2756

0.9613

0.2867

17°

0.2924

0.9563

0.3057

18°

0.3090

0.9511

0.3249

19°

0.3256

0.9455

0.3443

20°

0.3420

0.9397

0.3640

21°

0.3584

0.9336

0.3839
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Z5t= £x ©F 2y o] 5t

sin x = 0.2588

tany = 0.3640
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F5HH?
/10’
34°
A

2t sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

58° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@ 923.882 ® 29.107
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24. o3 29T 72 YYPAE Y ABCD A AB = 5cm, /D = 60°
©]1 AE = EF = FB ¢ #A/7F 435t AEFC 2] B o]7} 10em? ¢
o, AD ¢} Zo]& Fstejet.




25. & A7 o)|A AB = BD = DC, AD = C
2v2 d o, cosx 9] S FoFH?

310 V10 3
@ 10 @ 10\/_ ® 10
@ 103«/10 5 103 3




sin A + 2cos A
sin A — cos A

26. tanA = - ¢ o, o] 3t Fotd?

DN | =

D 5 ® 3 3 1 @ -1 ®B =5



27. thE F AR Ak sin30°9h 24 92 A2

@® cos60°

@ tan45° x sin 30°

® %(cos 60° X tan 60°)
@ %(Sin 30° + cos 60°)

® 2 x (sin 30° x cos 30° x tan 30°)
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ZE Azt 0 AMS UL A, B F
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